T3 0FE 7T A MRIZITFE FRNF]
SREFI T TFR 15 : 002
6RFfEI T TR 15 : 50%EF

A (i |F7ffTH TR GUEE 1L TV £ 41 6 IR I T9)

LR

| 0 (D70 kRS KESISEEL | _grg1s 00

3| & 1-2%815:00

4|k [FAENE 1 20 BEMK 1-35%15:00

5 | A |BHHER 1-25£15:00

6 | & |[BEHR QOFIEFEELE ©/I7 1~3515:00

o

a1 0

o | m (BT e —&TF&15:00 (RAMBETE)

10| & |FE M 1-2%15:00

Ik |BEHEK S CRL 1-35%515:00

12| A |BE MK 1-2%$15:00

1Bl & |LoWUN—F 1L QFZEE —EPFEE15:00

4l

151 H

16| A (DO H

17|k AR —F MK 13:50 —HTF13:50

18| & (EAERHK —AME 13:50 —E&EPFE13:50

19| & EABRHK —F K 13:50 —&HTF813:50

21

221 B

23| A |ERRERE RDIRDEY | (10:35TF#)

| K [ DR D 2 I Tcro:3sFm

25| Kk |7 —IVBAKA B

26 | & |7 —)LBARKC A

ol o |ZIVHBKBC .

FEMXE RO % GEBS - (KEEE)

28| L |MEMIXE RO GEE - (KFEE)

29| H |FEMXERD MG GEE - KEEE

30| H |7 —I)VBAB

31| &k |7 —)VBRKC




